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[0 1]

goobooOobOoODOOo00oobo0oooboobboOobDOoOooboOooooDOo

[0 2]

typedef struct{
char name[32];
double height;
double weight;

}student;

(0 4]
strcpy (suzuki.name, "Suzuki Hiroshi");
suzuki.height=175.3;
suzuki.weight=64.3;

[0 6]

ooooooooooo
student gakusei[10000];

[O01] O30

Lo ]

FILE *outf;

Lo ]

fprintf (outf,"%d\t%f\t%f\n" ,deg, sin(rad), cos(rad));

[0 2] 0]
hoge=fopen("tri.dat","r");

[0 3] 30
student suzuki, tanaka, ito;
(o 5]
printf ("Name:\t%s\n", suzuki.name);
printf("Height:\t%f\n", suzuki.height);
printf ("Weight:\t%f\n", suzuki.weight);
outf=fopen("trigonometric.dat","w");
fclose(outf);
[0 3] [zO]

fscanf (hoge, "%d%1f)1E", &r, &s, &c);
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1.3 00oOn

(0 1] [iod]
int kaijyo(int n)
{

if (n==1){
return 1;
}else{
return nxkaijyo(n-1);

}

14 O00O0O0OO0OO00000

(0 1] (50 (0 2] [0
000000000000000000000 €0S=0.000000

printf ("captal:%s\n",home->captal);

(o 3]

(0)ooooo (0)ooooo (0)ooooo (0D)oooooo
[0 4]

@) e (0) a @) b

2 Dooooaoo
2.1 OO0
(18 O]

o001 0oooooo0ooOOoOooO0oo0o

#include <stdio.h>

int main(void)

{

int n;

printf("n?\t”);
scanf ("%d” ,&n);

printf (”?S(%d)=%d\n” , n, sn(n));

return 0;

if (n==0){
return 0;
}else{
return nsntsn(n—1);

}

oo s, 0010n000000000000000000O0O0O0ODCOO

Sp = Z k2
k=1
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2.2 2000000

000 220000000000000

#include <stdio.h>

void print_binary (int n); // 00000000

//= = 0000a0a
int main(void)

{

int nx;

scanf ("%d” , &nx); // 0000
print_binary (nx); // 00000
printf(”\n”);

return 0;

}

//= == 200000000000 000)==
void print_binary (int n)

{

if (n==0){
return;

}else{
print_binary (n/2);
printf ("%d” ,n%2);




